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1.  (A) Explain the meaning of Corporate Financial Statement. Describe the objectives
and features of Corporate Financial Statement.

(B)
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OR

14

What is Accounting standards ? Explain the objectives of Accounting

standards.

7

Briefly explain the users and uses of Financial Statement and Accounting

Informations.

Select appropriate alternative : (Any three)

)

2

3

“

©)

Accounting for borrowing cost is dealt with by

(a) AS-16 (b) AS-14

(c) AS-10 (d)< None of the above
AS-14 deals with

(a) Accounting for Amalgamation

(b) Accounting of Government Grants

(¢) Accounting for Investments

(d) Accounting for Fixed Assets

Accounting standards are issued by

(a) ICAI (b) ICWAI

(¢)  ICSI (d) CLB

Financial statements as per IFRS are presented at

(a) Fair value (b) Historical cost

(c) Market value (d) Replacement value

Balance sheet of a company must be prepared in
(a) horizontal form only

(b) vertical form only

(c) either in vertical or horizontal form

(d) either in vertical or horizontal form as per schedule-VI.

7
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2. (A)
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The following are the Balance sheets of Harshal Ltd. as on 31-3-17 and 31-3-18 :
. 31-3-17 | 31-3-18 31-3-17 | 31-3-18
Liabilities Assets
) ) ) )
Equity shares of Goodwill 6,00,000| 5,64,000
T 10 each 24,00,000| 42,00,000 |Land &
General Reserve [16,80,000| 10,80,000 |Building 24,60,000| 16,80,000
Capital Reserve - 1,20,000 |Plant &
Profit & Loss A/c| 7,20,000{ 9,00,000 [Machinery 7,20,000| 15,60,000
15% Debentures — 12,00,000 |Investments 2,40,000{ 6,00,000
Creditors 5,40,000 7,20,000 |Stock 8.40,000| 21,00,000
Bills Payable 4,80,000{ 2,06,000 |Debtors 9,60,000| 18.96,000
Proposed Bill’s
Dividend 4,20,000] 6,00,000 |[Receivable 1,56,000| 5,04,000
Provision for Bank & Cash 7.20,000|  6,72,000
Taxation 4,80,000] 5,48,000 |Preliminary
Staff Pension Expenses 84,000 60,000
Fund 60,000 1,20,000 |Debenture
Discount - 72,000
67,80,000| 97,08,000 67,80,000| 97,08,000

Additional information :

(M

2
€)
“)

®)

(6)

Land & building having original cost of ¥ 8,40,000 and written down value
of T 6,00,000 have been sold for ¥ 9,60,000. Out of the profit on sale the
capital profit hasbeen transferred to Capital Reserve and the Revenue Profit
has been credited to profit & loss account.

Machinery costing ¥ 10,20,000 was purchased during the year.
Debentures were issued at 10% discount.

The company issued bonus shares to the existing shareholders by
capitalising required sum from General Reserve in proportion of 5 : 2.

Paid proposed dividend of the last year and also paid interim dividend of
T 1,44,000.

Paid % 4,32,000 as Tax for the last year.

From the above particulars, prepare cash flow statement as per Accounting

Standard No. 3 and analyse all activities.

(Show necessary working as a part of answer.)
OR

14



(A) (D

2

From the following information prepare Balance Sheet with as much details

as possible and analyse calculated ratio :

Balance Sheet

7

Liabilities ® Assets ®
Share capital ? Fixed Assets ?
Reserve & Surplus 80,000 | Liquid Assets ?
+ Closing Stock  __ ?
= Current Assets ?
— Liquid liabilities ?
— Bank Overdraft 20,000
= Working capital 1,20,000
? ?
Other details :
(1) Current ratio 2.5
(2) Liquid ratio 1.5
(3) Proprietary ratio [ Fixe':d Assets } 0.75
Proprietary Fund
(4) Working capital % 1,20,000
(5) Reserve & Surplus 780,000
(6) Bank Overdraft 320,000

Note : There is no long term loan or fictitious assets.

Explain the meaning and importance of accounting ratio.

(B) Select appropriate alternative : (Any four)

DF-110

(M

(2

©)

From the following details find out cash flow. Opening and Closing balance
of tax provision are respectively ¥ 2,000 and X 2,600. Tax provision made

during the year ¥ 3,000 —
(@) © T 2,400 outflow (b)
(c) 3,400 outflow (d)

Cash receipts from issue of Bonds is —
(a) a financing activity (b)
(c) an operating activity (d)

32,400 inflow

None of the above

an investing activity

None of the above

4,00,000 equity shares of ¥ 10 each ¥ 8 paid up and 10% is the interim
dividend then the amount of dividend will be —

(@ ¥3,20,000 (b)
(c) ¥ 4,00,000 ()

% 1,60,000
< 3,60,000
P.T.O.
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DF-110

“)

®)

Calculate gearing ratio from the following information

Equity share capital : 40,000 equity shares of ¥ 10 each
12% Debentures :¥6,00,000

10% preference share capital : 2,000 shares of ¥ 100 each

(a 2 by 1

) 5 (d) None of the above

If opening stock is ¥ 10,000 less than the closing stock, purchase ds
% 1,60,000, closing stock is ¥ 50,000 and sales is ¥ 2,00,000 then gross
profit ratio will be

@ 25% (b) 20%
(c) 33 %% (d) None of the above

(6) Current ratio shows
(a)  Short term financial position (b)  Financial stability
(c) Collection efficiency (d) Higher profitability
The Balance sheet of Deval Ltd. as on 1-4-2017 is as under :
Liabilities (9 Assets 9]
Share capital 7,20,000 | Fixed Assets 9,00,000
Reserves 1,80,000 | Stock 1,50,000
10% Debentures 2,40,000 | Debtors 90,000
Creditors 60,000 [Cash and Bank 60,000
12,00,000 12,00,000

Other information :

M

2
3)

“4)
)
(6)

During the year 2017-2018 total purchases, sales and operating expenses
were < 8,10,000, $.12,00,000 and ¥ 1,02,000 respectively.

Debenture interest for the year was paid on 31% March, 2018.

On 31%t March 2018 the balances of Stock, Debtors and Creditors were
3 1,20,000, % 1,44,000 and ¥ 90,000 respectively.

Depreciation on fixed-assets is to be provided at 10% per annum.
Stock is valued as per ‘FIFO’ method.
General price indices were as follows :

On I April, 2017 210
On 31 March, 2018 315
Average for the year 252

Prepare final accounts for the year 2017-2018 under historical cost method

and current purchasing power method.

OR
10
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(A) Answer any two of the following :

(B)

4. (A) Discuss the main tools and techniques of Cost and Management Accountancy.

(B)

DF-110

M
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3)
“)

Write short note : “Concept of Economic Value Added. (EVA).
Explain the meaning and advantages of Social Accounting.
Explain the meaning and advantages of environmental accounting.
Discuss the role of financial fraud examiner.

Select appropriate alternative : (any four)

(M

@

3

“)

®)

(6)

(1
2

Human Resources Accounting (HRA) is a process of
(a) identifying data (b) measuring data

(c) identifying and measuring data (d) None of the above
Historical cost method is followed for

(a) Valuation of movable assets

(b) Valuation of intangible assets

(c) Valuation of physical assets

(d) Valuation of fictitious assets

Value added shows

(a) Employee moral (b) Employee efficiency
(c) Employee productivity (d) / None of the above
Social obligation covers

(a) Resources (b) Environment

(c) Society (d).. All of the above
Environmental Clearance is required for

(a) All the old projects (b)  All the completed projects
(c) All the new projects (d) None of the above

Audit of Human resources account is compulsory for

(a) Sole proprietorship (b) Partnership firm

(c) Company (d) None of the above

OR
Discuss the advantages and limitations of Cost Accountancy.

Discuss the advantages and limitations of Management Accountancy.

Select appropriate alternatives : (Any three)

)

Which of the following tools and techniques are not used by management

accountancy ?
(a) Operating costing (b) Standard costing
(c) Budgetary control (d) Marginal costing

11
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To whom Management Accountancy is most useful ?
(a) Managers (b) Investors
(¢) Creditors (d) Shareholder

The method where predetermined standards of cost are set in advance and
actual performance is compared with it is called —

(a) Standard costing (b) Marginal costing

(c) Historical costing (d) Contract costing
is not used in Cost Account.

(a) Marginal costing (b) Job costing

(c) Batch costing (d) Contract costing

Internal audit in management accounting is

(a) Voluntary
(b) Compulsory once in a year
(c) Compulsory twice in a year

(d) Compulsory to be done through Government appointed Auditor.
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